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1. 5B RERERKIER
o I s 4R 5H|6H| 7THA| 8A|9H|10A|11A|12A | 1H | 2A4 3 H | —Emwg zj‘v_?i+ +‘ﬁ.‘jj+ [T -
4/4~5|5/8~9|6/5~6|7/3~4|8/7~8|9/4~5|10/2~3|11/6~7|12/4~5|1/9~ 10| 2/5~6|3/4~5| 10/2~3]| TPRAE| T HRfE
1 (7270ve=ry ug/m*| 0.016 |<0.014|0.018 [0.026 | 0.038 |<0.014]<0.014[<0.014] 0.023 | 0.024 | 0.017 | 0.016 |<0.014[ 0.014 | 0. 004 - 2
2 |HEibE=F /) ~— | ug/m’[<0.025[<0.025]<0.025(<0. 025 0.038 | <0. 025 <0. 025] 0. 025]<0. 025 <0. 025]<0. 025 0. 026 [<0. 025|| 0.025 | 0.007 || - 10
3 |7 makL s wg/m’] 0.24 1012 |0.20 [0.31 [0.16 | 0.16 | 0.22 [0.12 |0.16 |0.19 [0.12 [0.16 | 0.24 [[0.013 [ 0.004] - 18
4 |1,2-vr7vuvxgy | pg/w’] 0.17 [0.11 | 0.19 [0.24 | 0.044]0.038 [0.16 |0.090 | 0.13 | 0.12 |0.095 [ 0.19 [0.17 | 0.014 [ 0.004 - 1.6
5 |rmm sy weg/m’]0.92 1055 | 26 [2.1 [37 |20 |15 [13 |2 |14 [1L1 [L1 |14 [[0.019]0.006] 150 -
6 [FrF27nu=Fro| pg/m’] 0.26 | 0.13]0.16 [0.12 | 0.14 | 0.064 | 0.20 |0.090 [<0.048] 0.19 | 0.11 [ 0.13 | 0.19 Jf0.048 | 0.014| 200 -
7 |MVZvav=FLro | yg/m®]0.73 |0.031 |0.098 [0.043 [0.16 | 0.35 [0.17 [o0.11 |0.13 | 0.25 [0.40 | 0.14 | 0.17 [l 0.017 [ 0.005] 130 -
8 |I,3-7 v wg/m*|0.082 [0.060 |0.091 |0.064 [0.080 |0.063 [0.085 [0.058 | 0.11 [0.24 |0.13 [0.052 [0.085 || 0.0156 | 0.005( - 2.5
9 |NB we/m’]0.71 | 0.35 |0.75 [0.64 [0.68 |0.51 [0.60 [0.51 | 1.1 | 2.3 [ 1.1 [ 0.82]0.60 [|0.024[0.007] 3 -
10 |=v ng/m’ | < <2 <2 <2 <2 <2 <2 <2 <2 <2 <2 <2 <2 2 0.8 - 25
IR A=A ng/m’ | < <5 <5 <5 <5 <5 <5 <5 <5 <5 <5 <5 <5 5 2 - -
2|7 T ATEFR we/m| 0.7 [<0.5] 0.6 | <0.5|<0.5]05 [<05][<05]07 [30]o08 |<05]<05| 05]|o02 - 120
13 |[Ava7irse | uwg/m’| <0.5 ] <0.5|<.5[08 [06 |11 |06 [05 |08 | 22| 11| o507 |05 ]|o0o0] - -
14 (A F v wg/m’| 1.4 1.3 .8 | 2.3 1.6 1.7 | 1.8 1.3 1.2 1.2 1.2 1.4 1.6 [lo.017fo0.005| - 94
15 | vz weg/m’] 29 | L3 |26 [22 |31 |34 [31 (23 |37 |81 |33 1.6 [ 29 [fo.022f0.007f - -
16 | b3 ng/m | 0.2 | <2 1.4 1o [<2]02 |os [02]| 04]<.2|<2]|<.2]05 | o02]oos]| - 6
17 [k ng/m’| L1 | L1 | L6 [18 | L6 L3 | 15| 16| 16| 17| L6 |17 L3 | 0.19 | 0.06f - 40
18 |t ng/m* | <10 | <o [ <10 | <10 [ <10 | <10 | <10 [ <10 | <10 | <10 | <10 | <10 [ <10 10 3 - 140
19 |Efb=F1 ug/m>|0.058 0.048 |0.077 [0.076 [0.023 |0.029 [0.049 [0.039 |0.036 |0.038 [0.021 [0.020 |0.049 0. 00680.0020] - -
20 [~V YA ng/m’ | 0.4 | <0.4 | <0.4 ] <0.4 [ <0.4] <0.4] <0.4 | <0.4] <0.4|<0.4|<0.4]<0.4[<0.4 04] 01 - -
21 (R Y [albE Ly ng/m® |0.034 [0.023 [0.023 o.0078 | 0.026 |0.0081 |0.015 [0.0086 | 0.24 |0.095 [0.045 |0.020 [0.016 [l0.0040]0.0012|| - -
2. W& HREERKER
N . P B B R R Y RN B TR R }rﬁﬂjﬁugﬁﬁ%%ﬁ
4/4~5|5/8~9|6/5~6|7/3~4|8/7~8|9/4~5|10/2~3|11/6~7|12/4~5|1/9~10[2/5~6|3/4~5 T BRAE] T R
1 |(7270ve=ry wg/m>]0.020 | 0.0180.020 [0.024 |0.017 |<0.014<0.014[<0.014]0.028 | 0.022 [0.015 |<0.014 0.014 | 0.004| - 2
2 |k e =F 7 ~— | ug/m’[<0.025/<0.025] 0.031 [ 0.027 | <0.025|<0. 025 <0. 025]<0. 025 <0. 025| <0. 025] <0. 025 0. 028 0.025| 0.007| - 10
3 |7 rakL s we/m’] 0.27]0.14 |0.21 [0.32 [0.16 |0.15 | 0.17 [ 0.12 ] 0.15 | 0.17 [0.12 | 0.15 0.013] 0.004| - 18
4 |1,2-vr7vvuxg | pg/m’] 0.17 [0.11 | 0.19 [0.24 | 0.046]0.041[0.11 |0.10 |0.11 | 0.12 |0.096 | 0.18 0.014 | 0.004| - 1.6
5 |rmm iy weg/m’| L1 |o.es | 227 [2.1 |28 | 1.8 [068 [1L2 |12 |18 [1L2 |12 0.019 | 0.006| 150 -
6 |[FrF27nuxzFro| yg/m’| 0.19 [0.053]0.081 [0.11 | 0.15 | 0.064 [ 0.14 |0.091 |<0.048[ 0.18 |0.092 |0.089 0.048 | 0.014| 200 -
7 |MVZvuw=FLro | yg/m’| 0.86 |0.084 | 0.20 [0.075 | 0.12 |0.096 | 0.19 [ 0.11 | 0.52 [0.24 [ 1.1 |o0.30 0.017 | 0.005| 130 -
8 |I,3-7 v wg/m | 0.089 [0.076 | 0.12 |0.094 [0.059 |0.034 [0.092 [0.061 | 0.12 [0.21 |o0.13 |0.066 0.015| 0.005| - 2.5
9 |NB we/m]0.70 ] 0.59 | 0.92 [0.84 [ 0.56 | 0.41 |0.65 [0.49 | 1.1 | 2.1 L2 | 1o 0.024 | 0.007| 3 -
10 |=v ng/m’ | < <2 <2 <2 <2 <2 <2 <2 <2 <2 <2 <2 2 0.8 - 25
IR A=A ng/m’ | < <5 <5 <5 <5 <5 <5 <5 <5 <5 <5 <5 5 2 - -
2|77 AT ER peg/m| 0.9 [ <5 08 ] 07 07 |09 [06 |05 L2 | 8 | 1o [<o5 0.5 | 0.2 - 120
13 |[Ava7irse | weg/m’|] 0.7 | <0.5)06 [06 |12 |15 [06 [06 |09 |14 1.3 | <0.5 0.5 | 0.03| - -
14 (b A F v wg/m’| 1.4 .4 | 2.1 1.9 .7 | 1.3 1.3 | 1.4 1.2 1.2 1.3 1.3 0.017] 0.005( - 94
15 | kv weg/m’| 40 |31 |38 [28 |23 |19 | 31| 2446 |77 [58 ]20 0.022 | 0.007| - -
16 | b3 ng/m* | 0.3 | <2 33|15 [<2]<.2] 02| 02|04 |03 [<2] 06 0.2 | 008 - 6
17 [k ng/m*| 1.3 o8 | L7 [ L7 |13 | L2 Lz | 1.7 |18 L7 ] L8 1.8 0.19 [ 0.06 || - 40
18 |ty ng/m’ | <10 | <o | <10 | <10 [ <10 | <10 | <10 | <10 | <10 17 | <10 | <10 10 3 - 140
19 |Eafb=F1 wg/m*]0.071 10.072 |0.057 [0.070 |0.022 |0.078 | 0.052 (0.042 |0.069 | 0.044 [0.019 |0.023 0.0068|0. 0020|| - -
20 [~V YA ng/m’ | <0.4 | <0.4 | <0.4 | <0.4 | <0.4] <0.4] <0.4 [ <0.4] <0.4| <0.4 | <0.4 | <0.4 0.4 | 0.1 - -
21 (R Y [albE Ly ng/m® |0.038 [0.017 [0.034 |0.012 [0.036 [0.0088 |0.026 [ 0.011| 0.24 | 0.53 | 0.048|0.045 0.0040|0. 0012|| - -
o I< JIERTREARMERT,



